= >
N = 0 &8 AH Y H N AN
20178 & =& 3 g LBtg ) 2=2H
2N 2
MM =0 OHE MHA MB(22H)

Cel: X0 2A2H 29 (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
2=2d 816,126 808,689 7,437
=0 DHE MHIA HMZ(22H) 216,481 217,279 AT98

S8HQ 22 29 216,481 217,279 A798
d¥2Y U He(22H) 53,155 54,855 21,700
206 X 24l 3,300 5,000 A1,700

01 MZHl 3,300 5,000 21,700
oY g K2 23X 300,000 300 2,000 A1,700
SIANE L FHSI A (Z2H) 67,945 67,043 902
401 Al Y2 20| 33,282 32,380 902
01 Al&H| 33,282 32,380 902
OBAIRA(EAESEHZAF  ZHE 15,466,000 15,466 16,280 A814
OUMBAFTHEZ=HIU S A
22X 6,816,000 6,816 7,100 N 284
OBAIRAHSHE B A 2,000 0 2,000
ZOIEO ZAO XYWL (A2H) 395,480 395,480 0
ZEU=E AL (22H) 395,480 395,480 0
ARD FOISAAA(AU2H) 395,480 395,480 0
401 Al Y2 20| 395,480 395,480 0
01 A& H| 395,480 395,480 0
O =2 ZE(60m) 2 8,162,000 8,162 8,570 2408
OOSIOIE DtSt2 LHi =2 dl (42m)
2 10,154,000 10,154 10,640 486
OZ X4 =2 F(34m) ZA 8,273,000 8,273 8,400 A127
OR0E =2 ZF(98m) A 13,418,000 13,418 13,960 A 542
OZA OtX & s2Z & (100m)
AE 11,288,000 11,288 12,000 AT12
Ootels =2 I A (100m) 23X 11,256,000 11,256 12,000 AT44
OSXNSA0HE LU 22 FH| (50m)
23X 11,420,000 11,420 12,000 A 580
OR2E =2 ZE(120m) A 14,122,000 14,122 15,000 A 878
O22+ i 4=2 A HI(97m) 23X 11,403,000 11,403 11,900 A 497
OLE =2 I X (66m) 23 10,717,000 10,717 11,200 A 483
Olals XA20tA 2 M L2I](500m)
23 21,004,000 21,004 20,000 1,004
Odole ot M 27](350m)
Z3 18,883,000 18,883 18,300 583
OAY or2cMT|(250m) ZA 18,818,000 18,818 18,100 718
Osel or2A0tAZ S M 27| (255m)
23X 13,622,000 13,622 13,600 22
OF2 =2 I X (53m) ZA 5,991,000 5,991 7,380 A 1,389
ot =2 & b2 3L & (70m)
23X 14,056,000 14,056 14,700 A 644




2N
X ZH -
L= B

el

=9
QlEo FHO XYL (228
s XNIpg(22d)

SN EH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl D2
Oot™ ey s==x(100m) 23 12,167,000 12,167 12,950 783
OAD0IE DFSoH2 % Hh+ 2 & vl (98m)

3 12,535,000 12,535 13,900 A 1,365
Oapewor DFSOH2 WY+ 2 F I (71m)
2% 9,478,002 9,478 8,280 1,198
OAITH H+Zbl(150m)  ZH 11,347,000 11,347 17,000 ~5,653
O4ID| =2 2 X (60n) 2% 8,612,008 8,612 8,500 12
O®0IE tZFHI(110n) ZF 9,821,008 9,821 13,000 A3,179
OME th4 == bl (90m) 2 7,938,008 7,938 10,000 A2,062
ORRY “ASHE(2n) 24 9,400,0008 9,400 10,000 600
Omor Agt@E4(800m)  ZF 6,580,000 6,580 7,000 A 420
OBH0I® =2 L b4 2 X Hl (40m)
ZH 6,580,0008 6,580 7,000 A 420
OR% =2l (97n) 2% 0¥ 0 19,000 19,000
ORY sZE I Y+ 2 & X (40m) 11,350 0 11,350
OMDIE SYIADM(14) 33 0 0 19,000 19,000
OMDIE DSOS 2] 18,929 0 18,929
OMDIE A42FH (14) 33 0 0 6,000 6,000
OM0IE ALY 4ZFHI(14]) 5,640 0 5,640
Ogel =22 (36m) 2 7,520,008 7,520 6,000 1,520
Oxg 52EF ¥ 54842 &4 (L=30m)
2 12,116,000 12,116 14,600 ~2,484
O0Ig NOIESH T2 =ZHIA(66n) 14,800 0 14,800
OHYS 224X T AH(64n) 12,580 0 12,580
Y2 AP (L2H) 204,165 195,930 8,235
olei2 oy (22 8) 130,110 126, 125 3,985
ol (Ze) 130,110 126, 125 3,985
101 Q124 130, 110 126, 125 3,985
03 RIH %22 RHE 99,217 95,232 3,985
O#20 52 99,217 95,232 3,985
-0l el (29) 2% 98,977,000 98,977 94,992 3,985
o= (2es) 74,055 69,805 4,250
o= (2e) 74,055 69,805 4,250
201 Lete H | 30,961 27,461 3,500
01 At 22t 27,818 24,318 3,500
OJlz+ gt 2% 10,682,000 10,682 7,182 3,500
405 XtoHH SH 3,650 2,900 750
01 et 22 H S| 3,650 2,900 750
OMbliw 79 300,0008 * 14 300 0 300
OoXt 7 250,0008 * 1} 250 0 250
OOSENY P 10,0002 * 20H 200 0 200




